Populations!
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Explain what are the elements that 

define a population, and explain the two different uses of the word.  

What are three properties used to describe one? What else can they do?
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Explain how the name of the pattern fits the pattern. 
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      A population gains individuals with each new offspring or birth and loses them with each death.


Write the equation that expresses this change over time: 


→ What a growth rate and how does it change over time for a population? 


→  Describe what is happening in the population with the following types of growth rates:



A) Positive



B) Negative



C) Zero


→ How many offspring do a pair of adult have to have to replace them? 
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Types of Interactions Between Two Species

Interaction

Species A | Species B

Description

Competition harmed

harmed

Each species negatively
affects the other.

Predation and | benefited

parasitism

harmed

Species A feeds on species B.

Mutualism benefited

benefited

Each species is helpful
to the other.

Commensalism | benefited

hunts and feeds on
kangaroo rat

unaffected

Species A benefits from spe-
cies B, but B is unaffected.








Explain Reproductive Potential in a species. Be sure to include information about what affects t
this potential. Give an example of a species with a low reproductive potential and one with a 


higher reproductive potential and tell how they differ. 
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Exponential Growth






→ What types of conditions can lead to this form


of growth? 


→ Describe how this graph looks to you and how

 
 you can link it to the name “exponential”.


    Why does an exponential growth curve eventually become a logistic growth curve shown below? 



→ Describe how this graph looks to you and how you can link it to the name “logistic”.


Carrying Capacity



→ What is a carrying capacity? 


→ How does this graph show the variable nature of a carrying capacity through the years?  What is the cause of this variability?


→ What happens to a population that exceeds its carrying capacity? 


Population Regulation


→ Density Dependent



→ Definition/Description



→ Example of causes:


→ Density Independent



→ Definition/Description:



→ Examples of causes: 

How do these

differ?:



Niche







Habitat

Symbiosis, once again....


Symbiosis is most often used to describe a relationship in which at least one species benefits.

-->How does coevolution affect the close relationships between the symbiotic organisms?

→ Competition is the relationship between two species (or individuals) in which both species 
(or 
individuals) attempt to use the same limited resource such that both are negatively affected 
by the relationship.


→ What is a niche overlap? 


→ Why does competition happen within the same species? 

→ Indirect Competition - Species that compete even if they never come into direct contact with each 
other.



→ Give an example not given of indirect competition. 

 → Predation – Predator/prey relationship: an interaction between two species in which one species, the 
predator, feeds on the other species, the prey.


Look at this graph and try to explain why the peaks and valleys occur where they do. 


